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150 @rm 1 T adf #, 75 @ 9 o §,

235 _ 1 3t 291 _ 1 31 = fawie @ arelt] 5.

ol T TN 1R 2 60 TN HIl A & 3R 50 A Y o & | I
¥ 15 91 R FH G A4 €, AT gu R

it e @ W st T A o 2 | AR ol §

(b 90 Y% ARtk HH-8-%H Teh 99 odl 8, a1 had
34 4 Tt safvat <6t EEEn fehah B 2

e 127
(a) 50

(d 129
(b) 40

10 ®1 e =i F= R S UEEA -8

(product) 29 x 28 x 27 x ... 2 x 1 &l fawrfom @ 20

AT 8 ?

o A, B, C, D3R E U6 g6 TE HW & |
d2:3:4:5:6% U A ot FEw @

okl § | Wy, 3% g0 ST T @ F AT

(o). i8 6:5:4:3:2% | 3¢ sfer A aren @y Few
o e e ok st % g ®, @

o ey rferes v I g 2

99 (@ C

65 =1 11 ¥ fawifa =0 | Ivwa <=1 8 2 2 gy

@) .0 (¢) C3M DA

®b) 5 (d) Tt = SO A B

(e)er: 9

@ 1b frfefad genstt «w foem Hifvm .
1. 437

a&mxz—bx+c=5%'{(’ﬁﬂﬁﬁ(5%, 2. 797

q frefafea § @ sRar ad 2 2 3. 1073

) L It wemad # fhet st s # 2

b c=4b-5 o, Saa

Sy s (b) had
) b%+c?=5 ©
@ B @ # s TA
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1.  What is the largest number which divides both
B - Loand 2717
(a) 34
(b) 90
o) 127
d 129
2. What is the largest power of 10 that divides
the product 29 x 28 x 27 x ...2x1?
(a) 4
(b) 5
) 6
@ 7
8.  What is the remainder when 65% is divided by
117
(@ o0
(b) 5
e 9
d 10
4. If the roots of the equation x*-bx+c=5
differ by 5, then which one of the following is
correct ?
(a) bi=4c+5
) cZ=4b-5
© bi+c*=5
@ b -c*=5
JNBY-D-MTK
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(3-A)

In a party of 150 persons, 75 persons take tea,
60 persons take coffee and 50 persons take
milk. 15 of them take both tea and coffee, but
no one taking milk takes tea. If each person in
the party takes at least one drink, then what
is the number of persons taking milk only ?

(a) 50
(b) 40
(e 30
(d) 20

A, B, C, D and E enter into a business. They
invest money in the ratio 2 : 3:4 : 5 : 6.
However, the time invested by them is in the
ratio 6 : 5: 4 : 3 : 2. If the profit distributed is
directly proportional to time and money
invested, then who receives the highest
amount of profit ?

(a C

(b) Both Band D

(¢) BothCandD

(d) All get equal profit

Consider the following numbers :

1. 437
245 797
3. 1073

How many of the above numbers are prime ?

(a) Only one

(b) Only two
(¢) All three
(d) None
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A T ®& ® B H qod § g A0 F W
TehaT B | 38 3Tl B 3Et w1 &t ¢ hit g
¥ 15 TH TG & R FHaT 7 | A Teft frere 5@
% H 12 fH § wow = owhd § | C Iben
30 HE *I T fet § qof ot wehar B 2

36 fea
a5t
60 f&A
66 fea

(a)
(b)
(c)
(d

3 37! H TH TEIT F IFhi B ATHA 127 |
afg ol B gE-ca fem S, d wewn
I3NE 9 W | §&A1 | ekl % i H1 AW
R ?

(a)
(b)
()
)

- W N =

s el w, fauda fem d w1 @ gl
S § AT R @ Th ARk $l UK K H
10 ¥FVE T & | FEth, e M temieat
g feon & o1 @@ & @ 3EE 20 VS T
¥ | vgeh Tl i @aE 200 m R 3 gEd
TS i 150 m B | TEelt Tl i = w®

2
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr

(d 52 km/hr

11.

12.

13.

(4-A)

q&a,b,c,d,e?‘rﬁ'{f,
2a = 3b = 6¢ = 9d = 12 = 18f I TGS F &,

@ @+bfc+d+e+f HI AT TR ?
(a) 4/7
(b) 2

(© 5/2

d 9/2

uﬁa,b,c@mmﬁmé@ﬁﬁ,ww
%a+b+c=0%,?ﬁ¥l’5ﬁm ax’ +bx+c=0
% A T8 ?

2,1+ (c/a)

i [ a/c

(a)
(b)

(e) =il c/a

@ 2(c/a)-1

wot fashar gRT @l T Al # H WRE giawa
FA GAE H H T F 1A 8 | TR T4 7T
el H g=1  fhar A FoA 4% B A Bl
2 | afe feshan 1 18 oft en T8 TE g B
3R 9% 3% W I FW HA b A W &
e, a3kt @ wfaeraar ferat Bt 2

(a) 8=%

9—1—%

(b) 11

2
18 — %
(c) Tk

It o @ g T

(d)
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8. A can do a certain work at twice the speed of | 11.
B. Further, B can do the same work at
1-5 times the speed of C. All of them together
can finish the work in 12 days. In how many
days can C alone finish the work ?
(a) 36 days
(b) 45 days
(¢c) 60days
(d) 66 days
12,
9. The sum of digits of a 2-digit number is 12.
When the digits are reversed, the number
becomes greater by eighteen. What is the
difference between the digits in the number ?
(a 1
(b)y 2
(0 3
da 4
13.
10. The time taken by a train to cross a man
travelling in another train is 10 seconds, when
the other train is travelling in the opposite
direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction.
The length of the first train is 200 m and that
of the second train is 150 m. What is the speed
of the first train ?
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr
(d) 52 km/hr
JNBY-D-MTK (5-A)

If a,b,c,d, e and f satisfy
2a = 3b = 6¢ = 9d = 12e = 18f, then what is the
value of (a +b)/(c+d +e + ) ?

(a) 4/7
(b) 2

() 5/2
d 9/2

If a, b, ¢c are non-zero real numbers such that
a+ b + ¢ =0, then what are the roots of the

equation ax’ +bx+c =0?
(@ 2,1+(c/a)

() 1,alc

(¢ 1,¢/a

(d) 2’ (C/a) -1

Twelve percent of bananas bought by a fruit
vendor got lost during transportation. On
selling the remaining bananas, the vendor’s
overall profit turned out to be 4%. If the
vendor had not lost any bananas and had sold
them at the price of the remaining bananas,

what would have been his profit percentage ?

(a) 8%%
1
b 9—%
(b) i1 o
2
18— %
© T

(d) None of the above



14. 3 (5 +342) (5-3J2) H TATHS THA «
®, @ 8 + 20 T GATCH ST AT BT 2
@ 2+43
b) 3-.2
© 7-1
@ 7 +1
15. A v fowm quiss (1 @ =ie1) 6 73 &H
ud & 8 ¥ fawfoa e s, @t wwe =
g 2
(a) 3
(b) 2
0y R
(@ I8 S TEI 2 T IwwaA 1 & A
16. TAfafEga HuA W fa=m Hifw .
1. 39 n TH €990 §&AT (natural number)
3, 4 sen n(n2+2),ﬁ@wm
2|
2. I m T fawm i (0dd integer) B, T
S m4+411;12+11 w i
(integer) ® |
3 HYAl § ¥ HE-AVA € /R 2
(a) a1
(b) e 2
© 1323t
@ Adqr1,T82
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17.

18.

19.

20.

(6=A)

%mw%%n—l,ni‘lﬁ(n+laﬁ
5 fawsa a&f +a@1, F&1 n W @ ‘{Uﬁiﬁ
(positive integer) 2 | Fefafea 4 @ =
TR B2

(@ @2+ 1) 5 awia w2
b) @%-1) = 5 fawfoa s R
(¢ (@2+n)® 5 oo =@ @
@ (@%-n)® 5 fawfia o 2
5 37ehl ! 9% Ted WS HEAT HA-H 7, @ afe

18 3 11 ¥ fawfsa fmm S, @ Iwwa
7S Edl 8 ?

(a) 99981
(b) 99988
(c) 99997
(d) 99999

Teh A oH-ed §, AS BH T 20,000 2 &
St 599 @1g fow W # 3R B AW T 12,000
T ES 4ad ag for 9 § | 3w I 3@ 5%
T W YRV TS W gehdl T 98d & | 39
froert # = fopamn ar em 2

(a) QM SR 3

(b) B, T 6,000 Al M

(¢ A, T 6,000 B am

(d A, T 4,000 B! am

30 BE! a1t e A ¥ oG | 3fEd 376 65 8
3 35 BET I Y99 B | TG § 3fEa 37
708 | Ife W1 § Ig 9y wan & 6 erRi B
T Ufaf® § 47 % TH W Todt & 74 foran mn
?, @ A1 Yl o NEd 37k () FAT R 2

(a) 6728
(b) 67-58
(¢) 6811
(d) 6863



d4. If  the positive square root of
(5 + 3v2) (5 - 342) is «, then what is the
positive square root of 8 + 2o ?
@ 2++3
(b) 3-42
(¢) NP al
@ V7 +1
15. When every even power of every odd integer
(greater than 1) is divided by 8, what is the
remainder ?
(a) 3
(b)) 2
() e |
(d) The remainder is not necessarily 1.
16. Consider the following statements :
1. If nis a natural number, then the
2
number Ll s is also a natural
number.
2. Ifmis an odd integer, then the number
mf et el e
= S IATNIRTOgOY:
16
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only
(¢c) Both1land?2
(d) Neither 1 nor 2
JNBY-D-MTK
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17.

18.

19.

20.

(T=h)

It is given that 5 does not divide n — 1, n and
n + 1, where n is a positive integer. Which one
of the following is correct ?

(a) 5 divides (n® + 1)

() 5 divides (n® - 1)

(¢) 5 divides (n% + n)

(@ 5 divides (n® - n)

What is the largest 5-digit number, which
leaves remainder 7, when divided by 18 as
well as by 11 ?

(a) 99981
(b) 99988
(c) 99997
(d) 99999

In a business dealing, A owes B ¥ 20,000
payable after 5 years, whereas B owes A
¥ 12,000 payable after 4 years. They want
to settle it now at the rate of 5% simple
interest. Who gives how much money in this
settlement ?

(a) Both are at par

(b) Bgives ¥ 6,000 to A

(c) Agives T 6,000toB

(d) Agives T 4,000toB

Average marks in Mathematics of Section A
comprising 30 students is 65 and that of
Section B comprising 35 students is 70. What
are the average marks (approximately) of both
the sections if it was detected later that an
entry of 47 marks was wrongly made as 74 ?
(a) 6728

(b) 6758

(c) 6811

(d) 6863



21. AR oM PEHFT x> - 7x+1=0 F qA §,[24. 3% -9 3389w HCF RN R ?
@ ootspt AR TR ?

(@) 8%-1
(a) 2207 o T
L
(b) 2247 (© 3°-3
@ 3-9
(c) 2317
d) 2337 25. AGx= 4,/4,/4,/4 LR A xEI AR TR ?
(a) 2
22. 360 % W @S (¥FR) F wed # ® 4
Frafafes s w famr Hifs .
(c) 8
1. TUFES! T 24 8 | 7

: . e 26. WM AT m 3R n 7901 T § | (m + n)

39 Hedl § | BH-AE T ¥E 2 = o #=1 § @ 6 33m + 22n, 1219
(a) ad 1 syt
(a) 3
(b) HIA 2
(b) 4
© 1323 © 5
@ Fd LA 2 @ 10

; : ; 27. 3 TGS H UGS 2160 B 3 6 HCF
23. XYXVXY 9l 6.5 Fon & W H B oo | oy ot ot % wit o v 4006

H | T8 G WA B

?, O ST SEATST T AT TR 2
(a) haw 33 79 i s
(b) I 73R 13F ait i
(¢ 3,133 378 @ s
@ 3,7,133R 374 d 96
JNBY-D-MTK (8-A)
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21. If oo and B are the roots of the equation|24. What is the HCF of 3% _9and3® -9 ?

3 - Tx + 1= 0, then what is the value of

@) 38°-1
ot + B4 ?

) =84 <
(a) 2207 (©) 311 B
(b) 2247 CARE Lot
(o) 2317

25. Ifx= 4‘,4\/4,/4 ... , then what is the value

(d) 2337 of x ?

() .2

22. Consider the following statements in respect

of all factors of 360 : (b) 4
1. The number of factors is 24. (0 8

(d 16

2. The sum of all factors is 1170.

Which of the above statements is/are correct ? (96, ILet m and n be natural numbers. What is

the minimum value of (m +n) such that

(a) 1lonly
33m + 22n is divisible by 121 ?

(b) 2only S

(¢) Bothland2 (b4

(d) Neither 1 nor 2 © &
(d 10

23. Consider a 6-digit number of the form

XYXYXY. The number is divisible by : 27. The product of two numbers is 2160 and their
HCF is 12. If the sum of the squares of the two

(a) 3and 7 only numbers is 4896, then what is the mean of the

two numbers ?
(b) 7 and 13 only

(a) 24
() 3,13 and 37 only ®) 36
(d) 8,7,13 and 37 () 48
(d 96

JNBY-D-MTK (9-A)
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28. Q7 IY PH Y & 3 fw R | RAg. TR AR a, b, c 3 4 TR & qutE
A P A A A R 3N QA Iy s H i e
g I g B | 38 Afafs R 3R S a1y (positive integers) &, 38 JhR

ﬁaoaﬁwﬁm%lPaﬁtQﬁw@w a+b+c+d=200%l'ﬂﬁ

S w4 7 S=(-1*+ 1P +(-1°+ (-1}, A SH
foraa gwfaq wm & 2
(a) 3598
(a) Th
(b) 3899
b @
(¢) 3998
@ 4599 5y /(6%
@ =R

29. AR a, b M ¢, Ays ABC H o £, @ :
L ey 32. & 97%° - 14%° sy R

(a) 379 Afkd 839 =&

(a) TRUCHS &
(b) ©FTCHE B (b) 83® Afh 378 7
(c) UM (non-negative) B (¢) 373 8331 A

d e (non-positive) & @ TM7H, AR 83N
33. frafafaa sl w famm Fife .
30. 9R =T (bells) § S e 15 e, 25 fiFe,
35 e 3R 45 fime & 3faua § a9t § | 3R
ot wfeat 9 A M. W et &, @ et 72 W 2. logygo 10 T TG HE # |
3 3R fepaft a1 weh @1y st 2

1. logy, 50 U i €& § |

39T HE § A BH-A/A TE R/ 2
e (@) ¥ad 1
ok (b) Fad 2
© 2 © 13 23Mi
@ 3 (d a1, 2
JNBY-D-MTK (10-A)
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28. The age of Q exceeds the age of P by 3 years.
The age of R is twice the age of P and the age
of Q is twice the age of S. Further, the age
difference of R and S is 30 years. What is the
sum of the ages of P and Q ?

(a) 35 years
(b) 38years
(¢) 39years
(d) 45 years

29. Ifa, b and ¢ are the sides of a triangle ABC,
then va + Vb — Jc is always :
(a) Negative
(b) Positive
(¢) Non-negative
(d) Non-positive

30. There are four bells which ring at an interval
of 15 minutes, 25 minutes, 35 minutes and
45 minutes respectively. If all of them ring at
9 A.M., how many more times will they ring
together in the next 72 hours ?

(@ 0
(b 1
() 2
(d) 8
JNBY-D-MTK
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31.

32.

33.

(11-A)

Let a,b,c and d be four positive

integers such that a+b+c+d=200.
IfS = (-1 + (1P + (=1° + (= 1)%, then what
is the number of possible values of S ?

(a) One
(b) Two
(c) Three
(d) Four

The number 97°° — 14%° is divisible by :

(a) 37 but not 83

(b) 83 but not 37

(¢) Both 37 and 83

(d) Neither 37 nor 83

Consider the following statements :

1. log;q 50 is a rational number.

2. logygp 10 is an irrational number.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢c) Both1and2

(d) Neither 1 nor 2



84. A 17 ufgend 3 24 ®Y wh wm H 5 foq A |37, Frffad wot W fem $ifvw

U H Fhd & N 12 Afgemd o 23 gow Iht 1. n%—n 6 WSTR |

M H 6T d @ = g &, @ Fefafea o
¥ BETTE R 2 2. n°-n 5V USTR|
(a) 13 Wigaei i geram = 18 To61 1 gaan 3. n5—5‘n3.+4n,120ﬁ‘11@%|
(b) 11n%maﬁﬁaam=163;ﬁﬁam Wa::ﬁﬁa:{ﬁ?-ﬁ@%?
(c) 13q%m3ﬁﬁam=17gsﬁaﬁgm (@) 1 2

= RS 6 (b) e 23R 3
i il (c) <hadt 13 3

(d 1,23W3

35. o 7@ A, B 3R C U A1Y Th ! HI 66 A
W R & | T C Mohell 36 Tohl &l 12 6 §(38. ATHa S = 927 + 27° w1 3ifom ofF FM R 2
W Ghal & | Thl o W F fo, S9 98 @eh (a) 9§
gt 2, @ A9 @y @ Ry 9w ® 6
g1 t9e & &1g, Id C H sg wL feAn v ® © 17
3R Thl I WA H 85 IR W & | ¢ FRE @ 9

T B ?
¥
S 4 39. qﬁx=%_—i3ﬂ'{y §+1 @l oy
b) 2 H FIT R 2
e % (a) 60
g (b) 4543
(¢ 3043

@@ 90
36. A, B 3 C U &M &l HAY: x, 1-5x 3N 2x

fdi & qu = wsha & | AR I ww @y fuer |40, ¥6 gC UR # A A 1 15 knvhr B 1 AR R
HW B [ HA &, 9 78 Fh8 AU § P a9 i R # 42 km 3R g H Ruda

ot ST e e & 28 km TUH 99T | @ &G B, @ 9@

6 7ife = R 2
(a)2:34

(a) 2-5 km/hr
(b) = 6:4:3

(b) 3 km/hr
() T3:2:1

(¢) 4-5km/hr
(d):r24.: 302

(d) 6 km/hr

JNBY-D-MTK (12-A)
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35.

36.

JNBY-D-MTK

If 17 women and 24 men can do a piece of
work in 5 days and 12 women and 23 men can
do it in 6 days, then which one of the following

is correct ?

(a) Efficiency of 13 women = Efficiency of

18 men

(b) Efficiency of 11 women = Efficiency of

16 men

(c) Efficiency of 13 women = Efficiency of
17 men

(d) Efficiency of 11 women = Efficiency of

15 men

Three taps A, B and C together can fill a tank
in 6 hours. Tap C alone can fill the tank in
12 hours. To fill the tank, when it is empty, all
the three taps are started together. After
working t hours, tap C is closed and the tank
is filled in 8 more hours. What is t equal to ?

@ 1
(b)
(c)
(d)

A N

A, B and C can complete a work in x, 1-5x and
2x days respectively. If they complete the work
together, in what ratio should they be paid ?

(a)
(b)
g  8:2:1
(d

28 v 4
6:4:3

4:8:2

Courtesy: UPSC

37.

Consider the following statements :

1. n®-n is divisible by 6.

2. n®-n is divisible by 5.

3. n°—-5n°+4n is divisible by 120.

Which of the statements given above are
correct ?

(a)
(b)
(¢) 1and3only
(d)

1 and 2 only
2 and 3 only

1,2 and 3

38. What is the last digit of the sum S = 927 + 27°?

39.

40.

(13-A)

(a) 3
(b) 6
(e) ol
@ 9

Ifix = E and y = e then what is
the value x° — y3 ?

(a) 60

(b) 4543

(© 3043

(d 90

The speed of a boat in still water is 15 km/hr.
If it can travel 42 km downstream and 28 km
upstream in the same time, then what is the

speed of the stream ?
(a) 2-5km/hr
(b) 3 km/hr
(¢) 45km/hr

(d) 6 km/hr



41. ¥ 10,000 W 1 a9 & T 20% A a1fieh T A(43. TgE 1 - x - x* + X F v F FrAferRaa
el ®9 § TR HW W Tty = 3 HAl W e A, J& o T e wen

HIYRU S5 1 3T 41 3 ? (natural number) 8 :

1. TW1-2%+x° A AT R |
(a) T 842

2. FW1-X"VHST2 |
(b) T 756 i

I HeEl § ¥ BEA T AR 2
(e) T 641 (a) Wl
@ T 542 (b) had 2

(c) 13ﬂ12'q>l=ﬁ

(@ dTa1,T82

42, SgUS (polynomial) a(b — ¢) (x — b) (x — ¢) +|44. m%ﬁﬂﬂﬁ%m mx2+mx+8x+9Q?=F
b(c-a)x-c)(x—-a) + cla—-b)(x—a)(x-Db) f{?f:‘:ﬂf%?

% wed o fafafed s w o it . s gk
a ’
1. HHO0R | (b) . #:9
(c)~ 9,516
2. xITUH (a—b)(b-c)(c—a)? | @ 4,16
> > pa— 2
S o A B T v 45, aﬁx=a+b+f+‘2b 3
a
a+b ab 2 2
¥ + ?, @M x-a)’—(y—b)?&H
(a) ml 4 a+b
i i
(b) had 2 (a).. a*
; () O e
(e) 13ﬁ'{2?ﬁ7ﬁ
(c)+:"ab
(@ T@LTE2 ' (@ . ap
JNBY-D-MTK (14-A)
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41. What is the difference between simple|43- Consider the following statements in respect
. n n+1 .
interest and compound interest on ¥ 10,000 of the polynomial 1 —x —x" +x ™", where n is

a natural number :
for two years at 20% per annum compounded

half-yearly ? 1. Itis divisible by 1 - 2x + x°.
2. Itis divisible by 1 —x".
(a) T 842
Which of the statements given above is/are
(b) T 756 correct ?
© < 641 (8) TR
(b) 2only
(d <542

(¢0 Bothland2

(d) Neither 1 nor 2

42. Consider the following statements in respect
of the polynomial a(b — ¢)(x — b)(x — ¢) +
b(c—a)(x—c)(x—a) + c(a—-b)(x—a)(x-b):

44. For what values of m, is mx> + mx + 8% + 9

a perfect square ?

; 2. (a) 1,4
1. The coefficient of x“ is 0.
b) 4,9
2 Th fficient of x i —-b)(b- —d).
e coefficient of xis(a—b) (b—c) (c—a) © 9,16
Which of the statements given above is/are @ 4,16
correct ? ;
45. Ifx=a+b+ (a_—i and y = kb + . :
4a + 4b 4 a+b
(a) 1lonly g 4
then what is the value of (x—a)”—(y—b)" ?
(b) 2only (a) a’
2
(¢ Both1land?2 (b) b
(¢c) ab
(d) Neither 1 nor 2
@ a’b?

JNBY-D-MTK (15-A)
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46. fr=fafEs w fomm it . 48. AR tan® 0 + cot? 0 =m, A tan 6 + cot 6 I

O+ FT 28 2
o cos4e—sin4e=2LI‘;’,0<e<g
1-tan® 6 @ Jym+2+2
1
2. cosecO+cot@0= —M
cosec 0 — cot 0 (b) yym+4 +2
O<6<g
(e) \/‘Nm+2+2+2
2
3. cos29—sin26=1—_taLe- 0<0< X

1+tan® 0 % @ |Jymrd+z+2

394 iR # § - gt § 2
49. 6-4sin6, 0<0< = I IAAH TH FIT 8 ?

(a) had 130 2 ant, 0=0s3 2
(b) Hae 23 3 W R

b) 2
(¢) hael 130K 3

(e) 4
@ 1,23R3

d 6

47. ﬁsin@:%‘%,?ﬁ

2 " 2
2 50. 4 30° + 2 30° - 30° -
(tan 6 + sec 6)2 (cosec 6 — cot 0) 2, 0<06< % " e b e

6 tan 15° tan 75° =0

T HH 18 ? )
%1 TIE HH T x B AH 73 ?
121
(a) T
(a) 1
(). 1008
9 b 2
196
e —
Tl © 3
225
Ll @ 6
JNBY-D-MTK (16-A)
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46.

47. If sin@= = , then what is the value of
13
(tan © + sec 8)” (cosec 6 — cot 9)_2, De0<l?
2 |50.
121
(a) —4—
169
b il
(b) 5
196
B —
(c 9
225
d LAY,
(d) e
JNBY-D-MTK (17-A)

Consider the following :

1. cos46—sin49= ﬂg@_ 0<9<g

1—tan29’

1

2. cosecO+cot0= ———,
cosec § — cot O

0<b6< ]
2
& 2
3. cos’@—sin’0= 1—-1ﬂ2——9, gfc~
1+tan“ 0 2

Which of the above equations are identities ?

(a) 1and2only

(b) 2and 3 only
(¢) 1and3only

(d 1,2and3

Courtesy: UPSC

48.

49.

If tan® 0 + cot® 0 = m, then what is the value

of tan 0 + cot 6 ?

,N@—m_E+2
\[‘/Ef+2

(c) J,Nm+2+2 +2
(d) \/,Nm+4 +2+2

(a)

(b)

What is the minimum value of 6 —4 sin 6,

056523
2

) T |
b) 2
o 4
d 6

What is the value of x that satisfies
4 cos? 30° + 2x sin 30° — cot? 30° —
6 tan 15° tan 75°=0?

(@i &
d) 2
() 3
d 6



e 55. T Heen FEH % 3 W@ B, A o A
e ae & b (et ) S w2 | 7w e @

4 tan 13° tan 37° tan 53° tan 77°
Teh TS o MY 1 399 01 60° & 3R T@T &

1 UH R 8 ? :
(@) 2 T T U IV 30° B | TR I FaTE =
®b) 3 27
c). 4
(d)7+5 (a) 2h
B2 @ + cot? 0) (1 + cos 8) (1 —cos 0) — (b) 3h
2 " =
(1 +tan“0) (1 + sin 0) (1 — sin 0) o
T G F1 8 2
@ -1 (d) 5h
®) 0
© 1 56. WM AR ABC 5 cm, 12 cm 3N 13 cm Y131
(@52

a1l Tk qEshviE Bys 2 | afg ofif A & o

53. IR 2cos”® 0 +sinb-2=0, 0<es§, dl o BC W @9 9M ot @ 6 @aE p B, d 13p
T A L 2 T W F41 8T 2
@ = () Vo
® 7 b) 48
© g © 60
@ g @ 90

54. SR TR & WY W TSI TF Afh Th HR
ﬁmmnﬁﬁ%ﬁmaamﬁaﬂt:ﬂﬁgqm‘ OABC U% H#aqys 7 foees i ofif w99 m

¥@ar & | IR T 0 R 30° 450 B fom & fwe &g 0 R | ARk wwEgds w0
6 fore @ma €, 3R 3w sAfafis R 7 wEER &I%BA 323 T cm B, A g I Do Fn R 2
# ¢ fire @ &, @ Frafifa § & |9 w8

22 (a 4cm

@ TT<t<8 & T

(b) 8<t<83 o

(c) 83<t<86

d 86<t<89 (d 16cm
JNBY-D-MTK (18-A)
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cos? 82° + cos? 58° i 55. A woman is standing on the deck of a ship,

51. What is the value of 3 3
sec” 50° — cot” 40° which is h (in metres) above water level. She

4 tan 13° tan 37° tan 53° tan 77° ? observes the angle of elevation of the top of a
tower as 60° and the angle of depression of the
base of the tower as 30°. What is the height of

(a): "2

)" 3

) 4 the tower ?
5

@ @ %h

52. What is the value of ) Sh
1+ cot2 0) (1 + cos 8) (1 —cos 0) —
1 + tan® 0)(1+sinB)(1-sinb)? (c) 4h

(a) -1
) 0
(c)

d 2

(d) 5h

56. Let ABC be a right-angled triangle with sides
5 cm, 12 cm and 13 ecm. If p is the length of the

perpendicular drawn from vertex A on the

53. If 2cos°0+sin®-2=0, 0<0< —, then

n
2 hypotenuse BC, then what is the value of
what is the value of 6 ? 13p?

(a)
(a) 24

(b)
(b) 48

(e © 60

(d)

NMia e wla ala

(d 90

54. A person on the top of a vertical tower 57. OABC is a rhombus whose three vertices lie

ob ar i t iform d : :
0 O A T T on a circle with centre at O. If the area of the

coming directly towards it. If it takes I Sl et i oo s Do
6 minutes for the angle of depression to
change from 30° to 45° and further

t minutes to reach the tower, which one of the (a)'

radius of the circle ?

4 cm
following is correct ?
(a)s “TT <t <8 (b) 6cm
(b) 8<t<83 P
(¢) 83<t<86
d 86<t<89 (d 16cm
JNBY-D-MTK (19-A)
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58. U U9 % YEN &IBa1 H 25% W@l feAT W

59.

60.

JNBY-D-MTK

21 3 p skt T & wfiwa wgad R,
freafafea § @ S ad@ 2 2

(a) 16<p<18
(b) 14<p<16
© 12<p<14

(d 10<p<12

Ueh 3 UH I THEGH AT % & T §
e I & | U T wm % For gl deer
QM H A TH TN F P qEE aewe §
I & ?

ta): 21
b))~ 8:2
(e): 4:3

(d):-5:3

TH T % fael f F9E 11 cm B | EE

T8 S 240 1 em R | R e, erd

3R FTE T ITHA TR 2
(a) 16cm
17 em

(b)

(¢ 18 cm

(d) 19cem

Courtesy: UPSC

61.

62.

63.

(20-A)

% e et yometi i &@E 12 em, 16 cm
3N 20 em %, £ Cﬂ?l'é? (inscribed circle) T
&GS (THTHT) F1 8 2

(a) 489 cm
(b) 50 cm
(¢ 52T cm
d 549 cm

T 3 OGN AeF % $A JEE S 1

AT 39% a5 JEIT 8% o for o STe 2 |
e 39 o it 9 h IR THH YR Hi
e afafifead e o adi 2 2
(a) h=r

M) h=2r

(0 2h=3r

(d 8h=4r

T Tt &t % B3 % ™M 30 m 60 cm 3K
23 m 40 cm & | 39W GHH IR I FHER
TS @S A | FH-A-HH Rt et di
STEFIRAT B ?

(a) 30
(b) 36
() 169
(d 221



58. The surface area of a cube is increased by |61.
25%. If p is the percentage increase in its
length, then which one of the following is
correct ?

(a) 16<p<18
(b) 14<p<16
(c) 12<p<1l4
(d 10<p<li12
62.

59. A solid cube is cut into two cuboids of equal
volume. What is the ratio of total surface area
of the given cube to that of one of the cuboids ?
gy, 253
(b) 3:2
kel - 4:3
(d 5:3

60. The length of a diagonal of a cuboid is 11 cm. | 63.
The surface area is 240 square cm. What is
the sum of its length, breadth and height ?

(a) 16cm
(b) 17 cm
(¢) 18 cm
(d 19cm
JNBY-D-MTK (21-A)

Courtesy: UPSC

What is the area of the circle (approximately)
inscribed in a triangle with side lengths

12 ¢cm, 16 cm and 20 cm ?

(a)

48 square cm

(b)

50 square cm
(¢) 52 square cm

(d) 54 square cm

Two times the total surface area of a solid
right circular cylinder is three times its curved
surface area. If h is the height and r is the
radius of the base of the cylinder, then which

one of the following is correct ?

(@ h=r
() h=2r
(0 2h=3r
(d) 3h=4r

A floor of a big hall has
30 m 60 cm and 23 m 40 cm. It is to be paved

with square tiles of same size. What is the

dimensions

minimum number of tiles required ?

(a) 30
(b) 36
() 169
(d 221



64. TH Afh Hl 25 FHW &I a1l Th SRR
@d i "€ F AW AR 5 knvhr FH T A
Fe AT | fohaT ww o 2
(a) 36Te
(b) 30 fFE
(¢ 24
@ 18fFe

65. WA ST r B a1t ws g4 F Haia @i @
TBA x% 3 34t 9qd * 3Fata HHETE f';l‘gs_rl
*1 &% y 2 | Frafafea § @ smm e 2 2 | g9,
(a) 9x%=16y°
(b) 27x% = 64y°
() 36x%=49y°
d 16x% = 21y°

66. aﬁ@maﬁmeeg%mmz,a
3ghl <rerE foham wfaera &m <t Sie arfer 3geR
SI% T8 @ ?
(a) 50%
(b) 45%
() 40% 70.
d 35%

67. 8 cm 3R 12 cm YIS IS Th ™G F I
L 1o M L 1 e 2 e s R L s
tfirhan Seeet w91 8 2
(@ 16n T cm
(b) 18n i cm
(© 20ma em
(d 24nT M em

JNBY-D-MTK (22-A)
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68. ABCD U% anishR #gH & f5ad AB=x2 | =0

FUHR AGH & Hg 0 W 2x FAE F1 T
FHEATeR @91 OP @91 & | I £ APO = o, @1
cotema?w%?

@ 2
(b) 2

(c) = 242
@ 342

T 39 Wiy I g i e s @ ik @
1 WA FEA IWM F A 64 B GHE
AR 1 34 T 718 It § | 9 g F e
gaha w1 ol B TG F g fwd %
TR ¥ U T § ?

(a 025

(b) 05
(c) 075

d 1

T s ABC &1 IR 81 B P, Q, R, S #
gier 7 8 e ufm #A9: 16 em, 12 em,
4 cm 3R 12cm§IP,R3ﬂ'{Sﬁ‘\’ﬁéﬁgm:
A, B 3t C fafga & | oy ABC &1 wRmmg
o

(a) 18 cm
(b) 20cm
(0 22cm
(d 24cm



64. How long will a man take to walk around the
boundary of a square field of area 25 hectares
at the rate of 5 km/hr ?

(a) 36 minutes
(b) 30 minutes
(¢) 24 minutes
(d) 18 minutes

65. Let x be the area of a square inscribed in a
circle of radius r and y be the area of an
equilateral triangle inscribed in the same
circle. Which one of the following is correct ?
(a) 9x%= 16y2

) 27x% = 64y>
(© 36x%=49y”
@ 16x°=21y*

66. If the length of a rectangle is increased by
66 % %, then by what percent should the width
of the rectangle be decreased in order to
maintain the same area ?

(a) 50%
(b) 45%
() 40%
d 35%

67. What is the maximum area that can be
covered by three non-intersecting circles
drawn inside a rectangle of sides 8 cm and
12cm?

(a) 16msquare cm
(b) 18m square cm
(¢) 20msquare cm
(d) 24msquare cm
JNBY-D-MTK
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68.

69.

70.

g5 )

ABCD is a square field with AB = x. A
vertical pole OP of height 2x stands at the
centre O of the square field. If £ APO =6,
then what is cot 6 equal to ?

2
b) 2

) 242
@ 842

(a)

A solid iron ball is melted and 64 smaller solid
balls of equal size are made using the entire
volume of iron. What is the ratio of the surface
area of the larger ball to the sum of the

surface areas of all the smaller balls ?

(a) 025
(b) 05
(e 075
@ &

A triangle ABC has been divided into four
smaller triangles P, Q, R, S whose perimeters
are 16 cm, 12 cm, 4 cm and 12 cm respectively.
P, R and S contain the vertices A, B and C
respectively. What is the perimeter of the
triangle ABC ?

(a) 18 cm
(b) 20cm
(c)  22cm

(d 24cm



371 3717 T T (10) FFT7 3 o7 72. ¥¥ : a, b 4 ¢ % Higdw wE w1 § AR
THIHT ax” + bx + ¢ = 0 T Th A 2

Y S H Th 9 @ Fores w1 31 e € | 29
frafafiga Fée &1 ST = T&% T ™ B
I & FYTI: cHa I FIIE 17 |

(@) I8 fawey =99 Hifw IR W= # IN FTI: b ¥ adH AFIE (-5/2)8 |
FId Th FIT ¥ eI s mehar & AferA
T HUF ° @ eI S wear |

73. Y%7 : & m>n, JE m, n TR T § ?

b) ¥ fawes @m Ffm 3l w7 & W

foret ot ueh Hum & o s wwaT B FUTI : %>1.
(¢ ¥ fowea =@ Hifs Ik v &1 W FI7I: m>2n.
21 HYFT I ITIT F AR =T ST Gehar
2, Al FaA TH HAT Bl ITIN H AR s
e 78 o 1 el | 74. ¥¥7 : A, B3R C fogai @ qear g0
g i S g & 2
@) ¥z fowey =g Hfvw afe =1 Fo= A
@mw&hﬁm%ﬁmquﬁ HYTI : AB=5cm, BC=5cm,
e s g | CA =6 cm.
FYT 11 : AB=3cm, BC=4cm,
CA=T7cm.

71. T &A1 277XY5 (T&l X, Y 37 8) 25 @ W=

2 .
75. x 3y AT foaww quite & |
¥ XHAA TR ? 97 : W (x + y) H AA AfdT &9 A
fautfa foman s g 2 2

FIT]: QTR EEA 9H VST R |

FYTI : x +y)* = 256.
FYTI: X>5.

FYTII : x+y)?<16.

JNBY-D-MTK (24-A)
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For the next ten (10) items that follow : 72. Question: What are the unique values of a,
b and c¢ if 2 is a root of the

Each item contains a Question . 9
equation ax“ + bx+c¢=07?

followed by two Statements. Answer
each item using the following Statement I : Ratio of c to a is 1.
instructions :

Statement I1I : Ratio of b to a is (- 5/2).

(a) Choose this option if the Question can be
answered by one of the Statements alone
but not by the other. 738. Question: Ism > n, where m, n are non-zero

numbers ?

(b) Choose this option if the Question can be

m
answered by either Statement alone. Statement I : s >1.
(¢)  Choose this option if the Question can be StatementII:  m > 2n.

answered by using both the Statements

together, but cannot be answered by

using either Statement alone. 74. Question: Can a circle be drawn through the
points A, Band C ?

(d) Choose this option if the Question Staterpntls - ks Eon . PO e
cannot be answered even by using both Uik Bom

Statements together.
Statement II: AB=3cm, BC=4cm,

CA=17cm.

71. A number 277XY5 (where X, Y are digits) is

divisible by 25.
75. xand y are consecutive odd integers.
Question :  What is the value of X ? Question: Can the value of (x+y) be
determined uniquely ?
Statement I : The given number is
divisible by 9. Statement I : (x + y)4 = 256.
StatementII: X> 5. Statement I1:  (x +y)® < 16.
JNBY-D-MTK (25-A)
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76. Y37 : Wp2+q2+qﬁ'ﬁﬂ?%,\—ﬂﬁp,q

o & 79. B9 A 6 3 v st F darEat 25 em ik
TcH ?

FITI: 2p+qfomm g |

FYTI: q-2pfaem |

77. ¥¥7 : g9 CH S I8 ?

FYTI: T cem NS I Th =99 C % g T
30° T IV HdNd L 2 |

FYTI[: 10 con AATS ! Teh SAET C % g T
90° T IV Hdfd Ll 2 |

78. ¥¥7 : F Y A GHHIT B ?

B AH A gl » aefiga B
et a1 Ya we A W, A A
et sy 1 wiaré B I |

FYTI[: ASHU1:2:3% FUEH 3 |

JNBY-D-MTK (26-A)
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24cm§ |

o7 ;. GEd B YT hl dEIE 418 ?

FYTI: AFHU1:2:3% U@ H 7 |

FYTI: TG I § A FH o8 T Yo W
e T " il @9 672 cm B |

80. IA C I TH fa1 PQ T & @Sl # T YA

fawfora wedt 2 fop rfge & &a%at &1 3 T

TGS % HABSA b 4 TAT o TR 2 |

g7 . CHhBsmange

FYTI:  ATES B ST 66 T cm B |

FYTI: <GS H STFA 88T cm B |



76. Question: Is p2 + q2 + q odd, where p, q are
positive integers ?
Statement I : 2p + q is odd.
Statement I :  q - 2p is odd.
77. Question: What is the area of the circle C ?
Statement I : An arc of length 7 cm
subtends an angle 30° at the
centre of C.
Statement I : A chord of length 10 cm
subtends an angle 90° at the
centre of C.
78. Question : Is triangle A right angled ?
Statement I : The length of the line
segment joining the
mid-points of two sides of A
is half of the third side
of A.
Statement I :  The angles of A are in the
ratio: 1 :2::3:
JNBY-D-MTK
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79.

80.

(27-A)

The lengths of two longer sides of the triangle

A are 25 cm and 24 c¢m.

Question: What is the length of the

shortest side ?

Statement I : The angles of A are in the

ratio 1 : 2 : 3.

Statement II:  The length of the
perpendicular drawn on the
longest side of A from its

opposite vertex is 6-72 cm.

A chord PQ of the circle C divides it into two
segments such that 3 times the area of the

major segment is 4 times the area of the minor

segment.

Question :  What is the radius of C ?

Statement I : Area of the minor segment is
66 square cm.

Statement II :  Area of the major segment is

88 square cm.



3 37 a1 @ (02) ¥ % forw Amfifaa 3er w84,

faamr g :
il 0-30 | 3060 | 6090 | 90— 120
gNERAl | 4 5 7 4
81. WA I TGP 18 ?
(a) 60
b) 72
(© 175 e
d 80

g2. I wieyw (p) M wEES (Q HeW
7(Q — P) = 9R %I TgE Hd &, a R H T F1

27

(a) 6
d) 5
) -8

d 1

man#mﬁa}(oz)w#%%qﬁn%aézrww

faem #Fifse

heEdl 40-50 | 50-60

60 - 70

70 - 80

TRERAT 4 3

83. T I HIET T R ?
(a) 51
(b) 52
(c) 54

(d) 56

JNBY-D-MTK
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(28-A)

Ife M wTfERT 8, 9 SM &1 9H 1 8 ?

(a) 53 %
(b) 60
(e 160
(d 180

T THH h Y HT A% 200 S A B |
g HAd % AHR H § AN 3 a8 3’
=g 2: 1% U & ] | 9 Hiferh B B
AR E 1 m &G a1 B | DA & &%l | o

% Ty foraw wfoera 6 agrad et 2
(a) 40%

(b) 32%

() 20%

(d 155%

Mcmﬁaﬁgmaﬁ@mmsﬁzaﬁm
T Y % H-ATY el Hh T THR T ao
s S @ 6 sue el PR wwgm
! A T HA B | ASH HT AEAH T 8 ?

(= 22 i)
(a) 6776 ¥4 cm
(b) 6248 ¥ cm
() 5896 ¥ cm

(d) 56809 cm



Consider the following data for the next|84.
two (02) items that follow :
Class 0-30 | 30—-60 | 60—90 | 90 - 120
Frequency 4 5 7/ 4
81. What is the mode of the distribution ?
(a) 60
(b) 72
.78 85.
(d 80
82. If the median (P) and mode (Q) satisfy the
relation 7(Q — P) = 9R, then what is the value
of R?
(a) 6
(b) 5
() 3
@ 1
Consider the following data for the next
two (02) items that follow : 86.
Class 40-50 | 50-60 | 6070 | 70 - 80
Frequency 4 3 i 2
83. What is the mean of the distribution ?
(a) 51
(b) 52
() 54
(d) 56
JNBY-D-MTK (29-A)
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If M is the median, then what is the value of
3M?

(a) 53%
b 60
(c). 160
(d 180

The plinth of a house has an area of
200 square metres. It is rectangular in shape
and its length and breadth are in the ratio
2:1. The owner of the house extends the
terrace by 1 m on each side. What is the
percentage of area that has increased in the

terrace relative to the plinth ?

(a) 40%
(b) 32%
() 20%
d 155%

A square sheet of side length 44 c¢m is rolled
along one of its sides to form a cylinder by
making opposite edges just to touch each
other. What is the volume of the cylinder ?
(Take m = —27—2 )

(a) 6776 cubic cm
(b) 6248 cubic cm
(¢) 5896 cubic cm

(d) 5680 cubic cm



87. U TATH &I JFAT 3600 ¥F cm & | Q 3 | 3777 3777 Fved T (03) I & forw FefeiEa w
TeTh! % &A% 225 T cm 3R 144 T em B || e Hfw

Y ATHA FAS HT FAB HT 8 ? .
)9 ABC ®, AB=6cm, BC=8cm 3R

(a) 400 cm AC=10cm ¥ | B S T @9 Y91 ACH DN
(b) 360 em fierar & | BD frsen (B %% % @) %1 T 99 AB
(¢) 320 cm 3R BC ! HHY: P 3R Q W hiedr & &1 3@ o
(d 300% em @ w2 |
A

88. TH wnaiy Biys & wfeme o &arer shAw:
36 cm 3 5431 cm & | 01 Y TS FAT R 2 R
(a) 12cm
(b) 14 cm
(¢ 15cm B Q &
(d 16cm

89. WM Wiy

X={x|x=2+4k & k=0,1,2,3,... 24)
2 | 79 AT S, X 1 30 THR H ITETET
5 S % fdl Wt @ srat F1 ATEE 100 7|91 QC I TEE F1E 2
21 s ¥ Afean @wifea sragal 1 TEn

(a) 44cm
fraft 2 2
i (b) 42cm
a
b)) - 11 () 36cm
(¢) 12 (d 32cm
d) 13

s ABD = ,?ﬁ in 0 foreeh ?
90. 5-2cmﬁwaﬁqa%@ﬁc—w§mw&m92 b s B gipti

16-4 cm ? | BrsuEs 1 8a%a 1 R 2 (a) 04
(a) 1563 cm ®) 05
(b) 15 cm

(¢) 14-4Tcm W
d 1413 em @ 08

JNBY-D-MTK (30-A)
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87. The volume of a cuboid is 3600 cubic cm.|Consider the following for the next three (03) items
The areas of two adjacent faces are |that follow :
225 square cm and 144 square cm. What is the

area of the other adjacent face ? In the triangle ABC, AB = 6 cm, BC = 8 cm and
(a) 400 square cm AC = 10 cm. The perpendicular dropped from B
(b) 360 square cm meets the side AC at D. A circle of radius BD (with

centre B) cuts AB and BC at P and Q respectively

as shown in the figure.

(¢) 320 square cm

(d) 300 square cm

A
88. The perimeter and the area of a right-angled P D
triangle are 36 cm and 54 square cm
respectively. What is the length of the
hypotenuse ?
(a) 12cm z 5 C
(b) 14 cm
(¢ 15cm
(d 16cm
89. Let

X={x | x=2+4k, wherek=0, 1, 2,3,...24}.

91. What is the length of QC ?
Let S be a subset of X such that the sum of no

two elements of S is 100. What is the (a) 44cm
maximum possible number of elements in S ?
(@ 10 (b) 42cm
(b):. < 11

(¢) 36cm
(@ - 12
d 13 d 32cm

90. The perimeter of a sector of a circle of radius 92
52 cm is 164 cm. What is the area of the

If £ ABD = 0, then what is sin 6 equal to ?

sector ? P
(a) 15'6 square cm
(b) 15 square cm (b) 05
(¢) 144 square cm © 06
(d) 14-1 square cm

(d 08
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93. JWH =R 2
(a) 5cm
(b) 48cm
() 44cm

(d 4cm

3 IR T @7 (03) ¥ F fow AEfifed w

fa=m #ifae

95. I I I SIS FIT 8 ?
(@) 50(3-2)3 em
(b) 25(3-242)F cm
(¢ 25(3+2v2)TMem

@ 50(3-2v2)acem

96. 3T=BICd & T AAhA T 8 ?

f= fow v M@ #, wH i PQRS % i TH IW (a) (96 - 25m) T cm

2 | PHH T UH JFd fHH 919 4 cm x 2 em & 3R

R % T U o1 S T R |
S

R

N

94. IO H AP TR ?
(a) 100m & em
(b) 96n T cm
(¢ 50ma cm

(d 48n T em
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() (92 - 25m) T cm
(e) (96 - 16m) 1 em

@ (92 - 16m) T cm

377 37 dret @ (02) F¥H F fore [Amfofea T faer
FHT

o omw ¥, r B %t g9 & Fwia & Aa
ABCD & | Z DAE = 30° 3R ~ ACD = 30° fean

TR |
D B C
30°
309
A B
(32-A)



93. What is the radius of the circle ? 95. What is the area of the smaller square ?

(@ 5cm (a) 50(3 - v2)square cm

(b) 48cm (b) 25(3-2+2)square cm
(¢) 44cm (¢) 25(3+2+/2)square cm
(d 4cm (d) 50 (3-2+2)square cm

. ° ?
Consider the following for the next three (03) items 96. What is the area of the shaded region ?

that follow :
at follow (a) (96 - 25m) square cm

In the figure given below, a circle is inscribed in a ®) 02 ~ SN SBed am

square PQRS. A rectangle at the corner P that

measures 4 cm x 2 cm and a square at the corner R () (96 - 16m) square cm
are drawn.
S R

(d) (92 - 16m) square cm

Consider the following for the next two (02) items
that follow :

In the following figure, a rectangle ABCD is

inscribed in a circle of radius r. Given
£ DAE = 30° and £ ACD = 30°.

2

P
94. What is the area of the circle ? D E c

30°
(a) 1007w square cm
309
(b) 96m square cm
A B

(¢) 50msquare cm

(d) 48mnsquare cm
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97. g9 % SIS P JAA H HIBA ° JAIIC@

i

(a)

Sk

(b)

i

(c)

= By

(d)

¥

98. A AEC &1 &% &1 & ?
(a) %
(b) %
(c) :-3%2_:-3—
(@ —2—\7—3;2—
JNBY-D-MTK
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377 3717 FIT 3 (02) F¥F F I Refafaa & faer
#Fifora -

fm om@ 4, 0 %% 9@ TF g9 F FAd TH
fys ABC ? | WA #iflt s POA=x W
Z0QB=y° % | 39% 3T OB=BQ? |

C

99, x3IMyh fa FMTEY 2 ?

(a) x=y
) 2x=3y
() x=3y
(d 3x=4y

100. 3fe y = 15,1 ~ ACB foraeh st=R 2 ?

(a) 30°
(b) 40°
(o 45°
(d) - 80

(34-A)



97. What is the ratio of the area of the circle to the | Consider the following for the next two (02) items
area of the rectangle ? that follow :
- In the following figure, a triangle ABC is
(a) —
V2 inscribed in a circle with centre at O.
Let £ POA = x° and £ 0QB = y°. Further,
T OB = BQ.
(b) —
J3
2n
) =
J3
3n
d —=
J2
C
99. What is the relation between x and y ?
(a x=y
: ?
98. What is the area of A AEC ? @) Swedy
@) r2 () x=3y
a —
J3
(d 3x=4y
2
r
(b) —= 100. Ify =15, then what is £ ACB equal to ?
273 Y q
(a) 30°
2
@) e ®)  40°
3V3
(¢) 45°
2
W @  60°
J3
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